






DDC 100.0 70.0 96.6 100.0 8.5 34 100.0 34 100.0
LC 30.0 1.0 12.3 9.0 13.4 4 11.7 0 0
SUDOC 3.0 1.0 1.8 2.0 0.8 5 15.0 0 0
Other 30.0 2.0 9.1 5.0 9.8 10 29.4 0 0

DDC 100.0 30.0 91.4 100.0 19.8 21 61.8 19.5* 57.4
LC 15.0 15.0 15.0 15.0  1 2.9 0 0
SUDOC 10.0 1.0 4.7 3.0 4.7 3 8.8 0 0
Accn. # 100.0 100.0 100.0 100.0  2 5.9 2 5.9
Other 100.0 2.0 79.3 100.0 32.6 12 35.3 9.5* 27.9

*One library used Dewey for half its serials and alphabetical arrangement of titles for the other half.



DDC 100.0 2.0 80.2 100.0 37.4 29 85.3 23 67.6
LC 30.0 30.0 30.0 30.0  1 2.9 0 0
SUDOC 100.0 43.0 88.5 98.0 17.6 11 32.4 10 29.4
Other 43.0 20.0 31.3 31.0 15.9 2 5.9 0 0

DDC 100.0 5.0 87.3 100.0 23.7 31 91.2 27 79.4
LC 95.0 20.0 48.3 30.0 40.7 3 8.8 1 2.9
SUDOC 50.0 50.0 50.0 50.0  1 2.9 1 2.9
Accn. # 55.0 2.0 20.3 15.0 20.6 6 17.6 1 2.9
Other 100.0 2.0 46.2 33.0 41.7 6 17.6 2 5.9



13a. Lack of resources to shift collections 19 56 6 18 8 24 1 3
13b. Reclassification costs 19 56 6 18 8 24 1 3
13c. Lack of staff 21 62 4 12 8 24 1 3
13d. To avoid a split collection 14 41 7 21 12 35 1 3
13e. Reclassification no longer a priority 14 41 8 24 11 32 1 3
13f. Historical practice of classifying using DDC 15 44 8 24 9 26 2 6
13g. Administration’s preference for DDC 8 24 5 15 19 56 2 6

χ

χ
13a. 33 8.91 0.05 2.96 0.005 25 2.60 0.01
13b. 33 8.91 0.05 2.96 0.005 25 2.60 0.01
13c. 33 14.36 0.001 2.96 0.005 25 3.40 0.001
13d. 33 2.36 No 1.57 No 21 1.53 No
13e. 33 1.64 No 1.91 No 22 1.28 No
13f. 32 2.69 No 2.47 0.05 23 1.46 No
13g. 32 10.19 0.01 -1.06 No 13 × ×

*Refer to table 5 for the reasons.
“n” = number of respondents; “p” = maximum level of significance for which the preference holds. If the preference is not significant, “No” is entered. “×” 

= test not performed. “χ²” and “z” = the values the tests produce. The goodness-of-fit test has two degrees of freedom.



14a. Hierarchical in structure 21  62 7  21 5  15 1  3
14b. Allows for close and broad classification 17  50 12  35 4  12 1  3
14c. Flexible in the selection of the classification number 15  44 12  35 5  15 2  6
14d. Accommodates new subjects 14  41 10  29 8  24 2  6

χ

χ
14a.  33 13.82 0.001 4.00 0.001 28 2.65 0.01
14b.  33 7.82 0.05 4.35 0.001 29 0.93 No
14c.  32 4.94 No 3.89 0.001 27 0.58 No
14d.  32 1.75 No 2.83 0.005 24 0.82 No

*Refer to table 7 for the characteristics. 
“n” = number of respondents; “p” = maximum level of significance for which the preference holds. If the preference is not significant, “No” is entered. “χ²” 

and “z” = the values the tests produce. The goodness-of-fit test has two degrees of freedom.



2000–2003 3
1990–1999 4
1980–1989 3
1970–1979 1
1960–1969 1
Don’t know 4
Never 15

16a. Faster cataloging  10  29 8  24 15  44 1 3
16b. Library expansion 1  3 6  18 26 76 1 3
16c. Improved technology for easier reclassification  6  18 10  29 17  50 1 3
16d. Budget increases 10  29 5  15 17  50 2 6
16e. Dewey limitations 5  15 12  35 15  44 2 6
16f.  Admin. wants to convert 12  35 2  6 18  53 2 6
16g. Patrons’ requests 5  15 10  29 17  50 2 6

 χ² 

χ² 
16a.  33 2.36 No 0.52 No 18 × ×
16b.  33 31.82 0.001 -3.31 0.001 7 × ×
16c.  33 5.64 No -0.17 No 16 × ×
16d.  32 6.81 No -0.35 No 15 × ×
16e.   32 4.94 No 0.35 No 17 × ×
16f.   32 12.25 0.005 -0.71 No 14 × ×
16g.   32 6.81 No -0.35 No 15 × ×

*Refer to Table 10 for the reasons.
“n” = number of respondents; “p” = maximum level of significance for which the preference holds. If the preference is not significant, “No” is entered. “×” = 

test not performed. The goodness-of-fit test has two degrees of freedom.



χ

16a.  33 2.36 No 0.52 No 18 × ×
16b.  33 
31.82 0.001 
-3.31 0.001 
7 × 
×
16c.  33 
5.64 No 
-0.17 No 
16 × 
×
16d.  32 
6.81 No 

Classifying of all materials in Dewey -0.19 34
Accepting call number found on copy 0.06 33
Shortening call numbers  0.17 34
Using another edition to classify some topics -0.06 34
Using optional numbers 0.02 31
Using specialized schedules 0.02 31
Having thought of switching to LC -0.12 29
Spending money on reclassification -0.14 32
Patrons expressing a classification preference 0.19 33
Patrons influencing classification scheme 0.08 16
Not converting due to lack of staff 0.15 33
Not converting due to lack of resources 0.15 33
Not converting due to reclassification cost 0.15 33
Not converting due to historical practice -0.29 32
Not converting due to disliking split collections 0.14 33
Not converting due to not being a priority -0.16 33
Not converting due to administration’s preference -0.17 32
Preferring Dewey’s hierarchical structure 0.10 33
Preferring Dewey’s close and broad classification 0.10 33
Preferring Dewey’s flexibility -0.35 32
Preferring Dewey’s accommodation of new subjects -0.25 32
Converting due to library expansion -0.03 33
Converting due to administration’s desire 0.20 32
Converting to get work done faster 0.16 33
Converting due to better technology -0.10 33
Converting due to bigger budget -0.10 33
Converting due to limitations of Dewey -0.25 32
Converting due to patrons’ requests 0.28 32

“n” = number of respondents. “r” = Pearson coefficient (degree of linear relationship 
between the two variables). p < .05, two tails. For all the above questions, the sur-
vey data was able to be collapsed into two choices (yes/no; a reason/not a reason; X 
was done/was not done). No test showed a significant relationship. 












